Name:___________________________________

The Cereal Box Problem


New inside boxes of cheerios are six figures from Disney’s movie Cars! The six characters you could find are the one and only Lightning McQueen, the best tow truck around Mater, the beautiful 2002 Porsche Sally, the famous Hudson Hornet Doc. Hudson, the very trusted driver Mack, and last but not least Lightning McQueen’s rival The King. I really want to collect all six of these wonderful prizes from the cheerios boxes, so I would like to know how many boxes I would expect to buy to get all six.

To help me with my dilemma we are going to run a simulation to see how many boxes I would have to buy to get all six prizes. 

The Experiment: 
· Write down your personal probability. 

· Chose a method of simulation (random digits, calculator random generator, or a die). 

· Conduct 20 independent trials and count how many boxes it takes to get all six prizes. 

· Create a chart to record your data and share your results with the class. Example:

	Trial #
	Prize 1
	Prize 2
	Prize 3
	Prize 4
	Prize 5
	Prize 6
	Total # of Boxes

	1
	||
	|||||
	|||||||
	||
	|||
	|
	20


· Compare the theoretical probability and experimental probabilities
· Answer the questions at the end
 Questions:

1. If you bought 15 boxes of cereal, but still did not get all six prizes, do you have a right to complain to the manufacturer? If so, how would you justify your complaint?

2. Suppose you suspected that one prize was in shorter supply than the others, could you prove it?

3. What other kinds of problems could you model this way?

4. Suppose you had to generate random numbers between 1 and 12, how would simulate that experiment?

5. Explain why you selected your method of simulation. 

